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https://www.100test.com/kao_ti2020/135/2021 2022 C E8 AF A
D E8 A8 80 E5 87 BD c97 135188.htm 0 00 O :sbrk O O : O
OO0000000 O 0O:char*sbrk(intincr). O O O : #include
#include int main(void) { printf("Changing allocation with
sbrk()\n"). printf("Before sbrk() call: %lu bytes free\n", (unsigned
long) coreleft()). sbrk(1000). printf(" After sbrk() call: %lu bytes
free\n", (unsigned long) coreleft()). return 0. } O OJ [0 : scanf 0 [ :
0000000 O O:intscanf(char *format[,argument,...]). U
[ OJ : #include #include int main(void) { char label[20]. char
name[20]. int entries = 0. int loop, age. double salary. struct

Entry struct { char name[20]. int age. float salary. } entry[20]. /*
Input a label as a string of characters restricting to 20 characters */
printf("\n\nPlease enter a label for the chart: "). scanf(" s", label).
fflush(stdin). /* flush the input stream in case of bad input */ /* Input
number of entries as an integer */ printf("How many entries will
there be? (less than 20) "). scanf("%d", amp.entry[loop].age).
fflush(stdin). /* flush the input stream in case of bad input */ /* input
a salary as a float */ printf(" Salary : "). scanf("%f", amp.age,
&amp.salary). /* Print out the data that was input */
printf("\n\nTable %s\n",label). printf("Compiled by %s age %d
$.2I\n", name, age, salary).

(loop=0.loop printf("M | %-20s | ] | .2If\n", loop 1,
entry[loop].name, entry[loop].age, entry[loop].salary).



printf(" ————————————————————————————————————————————— \n").
return 0. } O OO O : searchpath I I : O 00 DOSO O 0 [0 : char

*searchpath(char *filename). U O O : #include #include int
main(void) { char *p. /* Looks for TLINK and returns a pointer
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